DML redundant: Yes

a (size ) DML redundant:
Case b (Circular runout) c
tolerance) Yes or No
Al 0.010 0.005 0.011
B1 0.010 0.005 0.010
C1 0.010 0.005 0.006
D1 0.010 0.005 0.005
E1l 0.010 0.005 0.004
A2 0.005 0.010 0.011
B2 0.005 0.010 0.010
Cc2 0.005 0.010 0.006
D2 0.005 0.010 0.005
E2 0.005 0.010 0.004

(¢ ize tol

ase a (size tolerance) c or No
F1 0.010 0.005 0.011
G1 0.010 0.005 0.010
H1 0.010 0.005 0.006
11 0.010 0.005 0.005
J1 0.010 0.005 0.004
F2 0.005 0.010 0.011
G2 0.005 0.010 0.010
H2 0.005 0.010 0.006
12 0.005 0.010 0.005
J2 0.005 0.010 0.004
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